UNIT 3A: STUDY GUIDE TRIANGLES AND PARALLEL LINES

"Tsing the figure below, state the transversal that forms each pair of angles. Then, identify the special name for the
agle pair: Vertical, Linear Pair, Corresponding, Alternate Interior or Exterior, or Consecutive Interior or Exterior.
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UNIT 3A: STUDY GUIDE TRIANGLES AND PARALLEL LINES

In the figure I || m. Find the measure of each angle. Each problem is different.

Problem Answer Problem Answer
If me7 = 100° 33. Thenm«3 = [0{)" If me3 = 140° 34, Then m«8 = Uibo

o e
Ifms7 = 175° 35. Thenms6 = [ If ms4 = 30° 36. Thenmz1 = |57
Ifmes7 = 120° 37.Thenms5= (~7 | Ifmzd =40° 38. Thenmz2 = Wb"
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If me4 = 20° 39. Thenms7 = 114 U 1fme7 = 1250 40. Then mz4 = 6%“
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In the figure a | b, m41 = 78° and m£2 = 47°. Find the measure of each angle.

Problem Problem
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UNIT 3A: STUDY GUIDE TRIANGLES AND PARALLEL LINES

Yind the missing values of the variables.

3x+5 + Ly -14 =180

X+19\‘ jso  Ta+3Y=160

-9 =180
ay, =189
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UNIT 3A: STUDY GUIDE TRIANGLES AND PARALLEL LINES

Complete each two-column proof.

3
2
Given:pll q 1
Prove:m41 + ms3 = 180° q
Statements Reasons
55.pliq 55. 1 e\
56. m£2 + mz3 = 180° 56. el o TeaN poux
57, 21 =22 57 COVY 0500 Ao “ 'S pogt.

58. mz1=mzs2

1
i ‘k
58. Aok b covdlvusrcr.

’

59. mz1 +mz£3=180°

59.  CUWw(4Huh

Given:llmandpllq

Prove: 21 =22

Statements Reasons
60.1lmandpll q 60. P10\ M
61. 21=1,3 61. f oz ('
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63. 21 =22 63. AVANC 1oy
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Given: 21 = 22 ]
2
Prove:l || m m
Statements Reasons
64. 21 =22 64.  (q\ven
65. 242 = /3 65. ' SOV
S L ATR
66.2£1=/,3 66.
67. 1l m 67. : § { ﬁ't“lfvfl
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UNIT 3A: STUDY GUIDE TRIANGLES AND PARALLEL LINES

08. X(=5,9), Y(2,1), Z(~8,3)

Scoene

Yy= V(-3 4 (-5

02 -

-~ "ind the length of each side of the triangle and classify as equilateral, isosceles, or scalene.

69. X(—4,-2), Y(=3,7), Z(-5,-7)
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Find x and the length of each side of the triangle.

X2= T4 €514y = \[a5+ = (3

70.

h—."l Ap=eC=1 RC=y4

71.

=3 H,F-F@-Hél-l“'f[

B
o ax-TEuv-al )+ = 3X+10
dx-H |L\-_._ ax Sy 1 dx+10 3)( - q
—— £ =X H %8 G X=3
AMN-1=T  1-3=y4 - (%) 10= -8
s e+l =19  3(3)tl0(q qe)-¢=
Find the measure of each numbered angle.
72. 3.
J x 10<3= 180-CTIEI= G- mal| ¥ M<= 180 -(58+065)
i K= 5 ﬂ =51 [mu 57
- |§0-571
m¢3= |80 (|33 88) v 650 ;NG =
ML = |80 -5 m<l = |9
oo ®T Mneyz -5 \Vﬁ:i— B
E‘r:\ = \n3 <8=m¢q|= 180 =133
YY\<’.) T;Gﬂ m'(h;:{” :ﬂ{_‘;“fw | _3\3.5 a
" ¢ [oal=min =318] f o M<A= 10 (043)
\80- 106 = 12 @
a i = 5]
M<3= 180-(a3494) S pMC3= [80~(5949)
| = 150—~(59429)
| M =133 el
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UNIT 3A: STUDY GUIDE TRIANGLES AND PARALLEL LINES

‘1_'“49\ d’ﬂ&

<1 = 1504 kqo-(-aS) M= 50-(045)

<w=‘3§(

M¢5= |g0 - (40+?>5)f
[M<5=55)

|
" — K= 180- (%0425) 7 Ml =g -
I-‘Y;\HZI‘ 55 WM<l +mlg=1%0
= = g
v m<a= 180-(10435) M= W‘M
Way s y m{ E:E\ 130" (M<a= 80 - "00"3@
S B <3 (8- (uS+a0) =110
M<3=40-36  m¢iy= (€0 - (11045 - o) mee s e =is] |
[m<3= 55] [v'_mq; 15 | [WTG= 10 -G30 +110) =40 < = [80-1j0=
% [M<3= 51-95 =34 -
M4 = |80~ (20+29) m<";lﬁg‘5{-
Im<t = 55 | ol

Find the value of x.

79.
A (2x— 158

143A (x—5)°
B8

g

M—1D th-5 =148
AXx—ob = |48
X = 6%

80.

Yt+ax +90 =180
2% +90 = (80
2y =90

81.

2= 117 Ay || +3x431=18]
Lx +16 =10
‘—W \\o“r

(2x + 271

|

oX+5 + 15%+ | ¥ k-1 =180

a6x+6—

80—
=7
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